10. PUBLIC SAFETY AND CRIMINAL JUSTICE 15. JUDICIAL SERVICES 9710. SUPREME COURT 01. SUPREME COURT

		9710. SUPREME COURT 01. SUPREME COURT		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars)	
11,j CI B HCCount I to	II D II COMM I TO	Personal Services:	(mousumes or contains)	
08-100-098-9710-001	9710-100-010000-10	Chief Justice	(173)	
08-100-098-9710-001	9710-100-010000-11	Associate Justices	(1,005)	
08-100-098-9710-001	9710-100-010000-12	Salaries and Wages	(4,248)	
08-100-098-9710-002	9710-100-010000-2	Materials and Supplies	(271)	
08-100-098-9710-003	9710-100-010000-3	Services Other Than Personal	(273)	
08-100-098-9710-004	9710-100-010000-4	Maintenance and Fixed Charges	(22)	
00 100 0,0 ,,10 00,	3,10 100 010000 1	Special Purpose:	(==)	
08-100-098-9710-008	9710-100-010010-5	Rules Development	(200)	
		Total Appropriation, Supreme Court		6,192
		9715. SUPERIOR COURT-APPELLATE		
NICES As N-	IDD A coours N-	02. SUPERIOR COURT-APPELLATE DIVISION	(thousands -f 1-11)	
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u> Personal Services:	(thousands of dollars)	
08-100-098-9715-001	9715-100-020000-11	Judges	(5,998)	
08-100-098-9715-001	9715-100-020000-12	Salaries and Wages	(13,556)	
08-100-098-9715-002	9715-100-020000-2	Materials and Supplies	(643)	
08-100-098-9715-003	9715-100-020000-3	Services Other Than Personal	(411)	
08-100-098-9715-004	9715-100-020000-4	Maintenance and Fixed Charges	` /	
		Total Appropriation, Superior Court-Appellate	·····	20,633
		9720. CIVIL COURTS		
		03. CIVIL COURTS		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u>	(thousands of dollars)	
		Personal Services:		
08-100-098-9720-001	9720-100-030000-11	Judges	(23,606)	
08-100-098-9720-001	9720-100-030000-12	Salaries and Wages	(70,818)	
08-100-098-9720-002	9720-100-030000-2	Materials and Supplies	(1,261)	
08-100-098-9720-003	9720-100-030000-3	Services Other Than Personal	(3,193)	
08-100-098-9720-004	9720-100-030000-4	Maintenance and Fixed Charges	(222)	
		Total Appropriation, Civil Courts		99,100
		9725. CRIMINAL COURTS		
NJCFS Account No.	IPB Account No.	04. CRIMINAL COURTS Direct State Services	(thousands of dollars)	
NJCFS Account No.	IFB Account No.		(thousands of donars)	
08-100-098-9725-001	9725-100-040000-11	Personal Services: Judges	(17 992)	
08-100-098-9725-001		<u> </u>	,	
	9725-100-040000-12	Salaries and Wages Materials and Supplies	(62,612)	
08-100-098-9725-002	9725-100-040000-2	11	'	
08-100-098-9725-003	9725-100-040000-3	Services Other Than Personal	(2,157)	
08-100-098-9725-004	9725-100-040000-4	Maintenance and Fixed Charges	(143)	
08-100-098-9725-045	9725-100-040870-5	Drug Court Treatment/Aftercare	(20,618)	
08-100-098-9725-044	9725-100-040880-5	Drug Court Operations	(10,006)	
08-100-098-9725-043	9725-100-040890-5	Drug Court Judgeships	(1,612)	
		Total Appropriation, Criminal Courts	·····	115,861

10. PUBLIC SAFETY AND CRIMINAL JUSTICE 15. JUDICIAL SERVICES 9730. FAMILY COURTS 05. FAMILY COURTS

		05. FAMILY COURTS		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u>	(thousands of dollars	s)
		Personal Services:		
08-100-098-9730-001	9730-100-050000-11	Judges	(17,231)	
08-100-098-9730-001	9730-100-050000-12	Salaries and Wages	(67,854)	
08-100-098-9730-002	9730-100-050000-2	Materials and Supplies	(979)	
08-100-098-9730-003	9730-100-050000-3	Services Other Than Personal	(2,792)	
08-100-098-9730-004	9730-100-050000-4	Maintenance and Fixed Charges	(145)	
08-100-098-9730-006	9730-100-050010-5	Family Crisis Intervention	(1,076)	
08-100-098-9730-013	9730-100-050030-5	Child Placement Review Advisory Council	(82)	
08-100-098-9730-061	9730-100-050120-5	Kinship Legal Guardianship	` /	
08-100-098-9730-047	9730-100-050420-5	Child Support and Paternity Program Title IV-D (Family Court)	,	
		Total Appropriation, Family Courts		105,619
		9735. MUNICIPAL COURTS		_
		06. MUNICIPAL COURTS		
NJCFS Account No.	IPB Account No.	<u>Direct State Services</u> Personal Services:	(thousands of dollars	s)
08-100-098-9735-001	9735-100-060000-12	Salaries and Wages	(1,236)	
08-100-098-9735-001	9735-100-060000-12	Materials and Supplies	` '	
08-100-098-9735-002	9735-100-060000-2	Services Other Than Personal	,	
08-100-098-9733-003	9/33-100-000000-3		` <u> </u>	
		Total Appropriation, Municipal Courts	····· <u> </u>	1,344
		9740. PROBATION SERVICES 07. PROBATION SERVICES		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars	s)
		Personal Services:	•	,
08-100-098-9740-001	9740-100-070000-12	Salaries and Wages	(83,506)	
08-100-098-9740-002	9740-100-070000-2	Materials and Supplies	(674)	
08-100-098-9740-003	9740-100-070000-3	Services Other Than Personal	(4,798)	
08-100-098-9740-004	9740-100-070000-4	Maintenance and Fixed Charges	(202)	
08-100-098-9740-011	9740-100-070010-5	Special Purpose: Intensive Supervision Program	(12,168)	
08-100-098-9740-011	9740-100-070070-5	Juvenile Intensive Supervision Program	,	
08-100-098-9740-024	9740-100-070420-5	Child Support and Paternity Program Title IV-D (Probation)	(24,936)	
		Total Appropriation, Probation Services	· · · · · · · · · · · · · · · · · · ·	128,503
		9745. COURT REPORTING		
**************************************	TDD 4	08. COURT REPORTING		
NJCFS Account No.	IPB Account No.	Direct State Services	(thousands of dollars	s)
00 100 000 0747 077	0745 400 000000 55	Personal Services:		
08-100-098-9745-001	9745-100-080000-12	Salaries and Wages	(8,065)	
08-100-098-9745-002	9745-100-080000-2	Materials and Supplies		
08-100-098-9745-003	9745-100-080000-3	Services Other Than Personal	,	
08-100-098-9745-004	9745-100-080000-4	Maintenance and Fixed Charges	(249)	
		Total Appropriation, Court Reporting		8,598

NICES Account No. PB Account No. PB Account No. PB Account No. PB Account No. Personal Services: Personal Services Other Than Personal Spatial Services Spatia			10. PUBLIC SAFETY AND CRIMINAL JUSTICE 15. JUDICIAL SERVICES		
Personal Services: Salaries and Wages					
Astaline Astaline	NJCFS Account No.	IPB Account No.		(thousands of dollars	s)
OB-100-098-9750-002 9750-100-090000-2 Materials and Supplies (36)	08-100-098-9750-001	9750-100-090000-12		(2450)	
100-098-9750-003 9750-100-090000-3 Maintenance and Fixed Charges 5			•		
Maintenance and Fixed Charges 5			• •	` ,	
NICES Account No. PB Account No. Personal Services: Personal Services: Personal Services: (thousands of dollars) Personal Services: Personal Services: (thousands of dollars) Personal Services:	08-100-098-9750-004	9750-100-090000-4	Maintenance and Fixed Charges	,	
NICES Account No. RB Account No. PB Account No. PB Account No. PB Account No. PB Account No. Nices N			Total Appropriation, Public Affairs and Education		2,862
NICFS Account No. PB Account No. Personal Services: Personal Services (11,741)					
Personal Services: Salaries and Wages	NICES Account No	IPR Account No		(thousands of dollars	s)
Salaries and Wages	<u> </u>	<u> </u>		(Mousumus of woman	-)
Materials and Supplies (98)	08-100-098-9755-002	9755-100-100000-12		(11,741)	
NICES Account No. IPB Account No. PB Account No. PGo-100-110000-2 Maintenance and Fixed Charges Materials and Supplies (2,412) (2,	08-100-098-9755-003	9755-100-100000-2	•		
Maintenance and Fixed Charges 139	08-100-098-9755-004	9755-100-100000-3	11	,	
NICFS Account No. IPB Account No. PB Account No. PB Account No. Personal Services: II. TRIAL COURT SERVICES II. TRIAL COURT SERVICES (thousands of dollars)	08-100-098-9755-005	9755-100-100000-4			
NICFS Account No. IPB Account No. Personal Services: Personal Services: National Services National Servi			Total Appropriation, Information Services		17,572
NICFS Account No. IPB Account No. Personal Services: Personal Services: National Services National Servi			ARKA TIDIAA COMIDE SEDVICES		
Personal Services: Personal Services:					
08-100-098-9760-001 9760-100-110000-12 Salaries and Wages (57,413) 08-100-098-9760-002 9760-100-110000-2 Materials and Supplies (2,412) 08-100-098-9760-003 9760-100-110000-3 Services Other Than Personal (10,964) 08-100-098-9760-004 9760-100-110000-4 Maintenance and Fixed Charges (333) Special Purpose: 08-100-098-9760-005 9760-100-110420-5 Child Support and Paternity Program Title IV-D (Trial) (2,040) Additions, Improvements and Equipment (4,003) Total Appropriation, Trial Court Services 77,1 NICES Account No. IPB Account No. IPB Account No. Direct State Services (thousands of dollars) 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-004 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-005 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-012 9765-100-120000-4 Maintenance and Fixed Charges (367) 08-100-098-9765-012 9765-100-120010-5	NJCFS Account No.	IPB Account No.		(thousands of dollars	s)
08-100-098-9760-002 9760-100-110000-2 Materials and Supplies (2,412) 08-100-098-9760-003 9760-100-110000-3 Services Other Than Personal (10,964) 08-100-098-9760-004 9760-100-110000-4 Maintenance and Fixed Charges (333) 08-100-098-9760-023 9760-100-110420-5 Child Support and Paternity Program Title IV-D (Trial) (2,040) 08-100-098-9760-005 9760-100-110000-7 Additions, Improvements and Equipment (4,003) Total Appropriation, Trial Court Services 77,1 NICES Account No. IPB Account No. Direct State Services (thousands of dollars) NICES Account No. IPB Account No. Direct State Services (thousands of dollars) NICES Account No. IPB Account No. Direct State Services (thousands of dollars) NICES Account No. IPB Account No. Salaries and Wages (7,783) 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-003 9765-100-120000-2 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintena					
08-100-098-9760-003 9760-100-110000-3 Services Other Than Personal (10,964) 08-100-098-9760-004 9760-100-110000-4 Maintenance and Fixed Charges (333) 08-100-098-9760-023 9760-100-110420-5 Child Support and Paternity Program Title IV-D (Trial) (2,040) 08-100-098-9760-005 9760-100-110000-7 Additions, Improvements and Equipment (4,003) Total Appropriation, Trial Court Services 77,1 NICFS Account No. IPB Account No. Direct State Services (thousands of dollars) Personal Services: 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (364) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)					
08-100-098-9760-004 9760-100-110000-4 Maintenance and Fixed Charges (333) 08-100-098-9760-023 9760-100-110420-5 Child Support and Paternity Program Title IV-D (Trial) (2,040) 08-100-098-9760-005 9760-100-110000-7 Additions, Improvements and Equipment (4,003) Total Appropriation, Trial Court Services 77,1 NICES Account No. IPB Account No. IPB Account No. Direct State Services (thousands of dollars) Personal Services: 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-004 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-005 9765-100-120000-4 Services Other Than Personal (1,665) 08-100-098-9765-010 9765-100-120000-4 Maintenance and Fixed Charges (367) 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)			11	, ,	
Special Purpose: Child Support and Paternity Program Title IV-D (Trial) (2,040)				. ,	
08-100-098-9760-005 9760-100-110000-7 Additions, Improvements and Equipment (4,003) Total Appropriation, Trial Court Services 77,1 9765. MANAGEMENT AND ADMINISTRATION 12. MANAGEMENT AND ADMINISTRATION NICFS Account No. IPB Account No. Direct State Services (thousands of dollars) Personal Services: 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-003 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: Affirmative Action and Equal Employment Opportunity (770)	08-100-098-9760-004	9760-100-110000-4	-	(333)	
Post Part	08-100-098-9760-023	9760-100-110420-5	Child Support and Paternity Program Title IV-D (Trial)	(2,040)	
Presonal Services: Salaries and Wages (1,7,783) (1,665)	08-100-098-9760-005	9760-100-110000-7	Additions, Improvements and Equipment	(4,003)	
12. MANAGEMENT AND ADMINISTRATION NICFS Account No. IPB Account No. IPB Account No. Direct State Services Personal Services:			Total Appropriation, Trial Court Services	·····-	77,165
NICFS Account No. IPB Account No. Direct State Services (thousands of dollars) 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-003 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: Special Purpose: 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)					
Personal Services: 08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-003 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)	NICES Assert M-	IDD Aggreet N-		(thousands of 1-11	a)
08-100-098-9765-002 9765-100-120000-12 Salaries and Wages (7,783) 08-100-098-9765-003 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)	NJCFS Account No.	IPB Account No.		(thousands of dollars	s)
08-100-098-9765-003 9765-100-120000-2 Materials and Supplies (364) 08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: Special Purpose: (770) 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)	08 100 000 0765 002	0765 100 120000 12		(7.702)	
08-100-098-9765-004 9765-100-120000-3 Services Other Than Personal (1,665) 08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)					
08-100-098-9765-005 9765-100-120000-4 Maintenance and Fixed Charges (367) Special Purpose: Special Purpose: (770) 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity (770)			• •	,	
Special Purpose: 08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity				, ,	
08-100-098-9765-012 9765-100-120010-5 Affirmative Action and Equal Employment Opportunity	00-100-090-9703-003	9/03-100-120000-4		(307)	
Total Appropriation, Management and Administration	08-100-098-9765-012	9765-100-120010-5	•	(770)	
			Total Appropriation, Management and Administration	-	10,949
Total Appropriation, Judicial Services			Total Appropriation, Judicial Services		594,398
Language Direct State Services - General Fund 08-100-098-9720-052 9720-100-030010-5 The unexpended balances at the end of the preceding fiscal year in the Civil Arbitration Program a appropriated subject to the approval of the Director of the Division of Budget and Accounting. Notwithstanding the provisions of any law or regulation to the contrary, receipts derived from fees under to Special Civil Part service of process via certified mailers are appropriated for the same purpose, subject to the approval of the Division of Budget and Accounting.	08-100-098-9720-052	9720-100-030010-5	The unexpended balances at the end of the preceding fiscal year in the appropriated subject to the approval of the Director of the Division of Bud. Notwithstanding the provisions of any law or regulation to the contrary, rec. Special Civil Part service of process via certified mailers are appropriated for	e Civil Arbitration Pr get and Accounting. ceipts derived from fee	rogram are

10. PUBLIC SAFETY AND CRIMINAL JUSTICE 15. JUDICIAL SERVICES

Language -- Direct State Services - General Fund

08-100-098-9725-045 9725-100-040870-5

08-100-098-9755-030	9755-425-100080-5
08-100-098-9710-001 08-100-098-9710-001 08-100-098-9715-001 08-100-098-9725-001 08-100-098-9730-001 08-100-098-9735-043	9710-100-010000-10 9710-100-010000-11 9715-100-020000-11 9720-100-030000-11 9725-100-040000-11 9730-100-050000-11 9725-100-040890-5

08-100-098-9730-061 9730-100-050120-5

The amounts appropriated hereinabove in the Drug Courts Treatment and Aftercare account shall be transferred to the Department of Human Services to fund treatment, aftercare and administrative services associated with the drug court program, subject to the approval of the Director of the Division of Budget and Accounting.

Receipts derived from the increase in fees collected by the Judiciary pursuant to P.L. 2002, c. 34 and related increases provided by operation of N.J.S.22A:2-5 and section 2 of P.L.1993, c.74 (C.22A:5-1) are appropriated from the Court Technology Improvement Fund for the purpose of offsetting the costs of development, establishment, operation and maintenance of the Judiciary computerized court information systems, subject to the approval of the Director of the Division of Budget and Accounting.

Notwithstanding the provisions of N.J.S.A. 2B:2-4, or any other law or regulation to the contrary, the amounts appropriated hereinabove for payment of judicial salaries shall be subject to the condition that, for Fiscal Year 2008, the annual salaries provided by law for justices and judges, pursuant to Article VI, Section VI, paragraph 6 of the New Jersey State Constitution, shall be as follows:

Chief Justice of the Supreme Court - \$173,569

Associate Justice of the Supreme Court - \$167,493

Judge of the Superior Court, Appellate Division - \$158,511 Judge of the Superior Court, Assignment Judge - \$155,076

Judge of the Superior Court - \$149,000 Judge of the Tax Court - \$149,000

Total Appropriation, The Judiciary	594,398
Totals by Category: Direct State Services	594,398
Totals by Fund: General Fund	594,398

THE JUDICIARY

Language -- Direct State Services

Receipts from charges to certain Special Purpose accounts listed hereinabove are appropriated for services provided to these funds.

Receipts from charges to the Superior Court Trust Fund, NJ Lawyers Fund for Client Protection, Disciplinary Oversight Committee, Board on Attorney Certification, Bar Admission Financial Committee, Parents' Education Fund, Automated Traffic System Fund, Municipal Court Administrator Certification, Comprehensive Enforcement Program, and Courts Computerized Information Systems Fund are appropriated for services provided to these funds.

The unexpended balances at the end of the preceding fiscal year not to exceed \$3,000,000 in these respective accounts are appropriated subject to the approval of the Director of the Division of Budget and Accounting.

NOTES

NOTES